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PKEFACE.

In using the book, it in importnnt for t«achera to remember that the
aimi fought include (1) tmining pupila to perform the fumJamental
operations with rapidity and accuracy

; (2) developing the power of
thought through the Hulution of problems

; (3) cultivating the language
power through the careful reading of problems, and their careful and
accurate solution.

(1) Rapidity and accuracy of calculation require patient and gyste-
matic practice. It is Huggested that in addition to the exercises hero
provided, there shall be much oral class work, and this in all the grades.
For it is possible for a pupil to be nroficient in the junior grades, and
to become slow and inaccurate later on. It is even possible for a pupil
who knows the endings for purposes of addition and subtraction, to add
by ones at a later stoge. When it is remembered that in the solution
of problems, the energy expended in calculation is so much energy lost
to reasoning, it will be evident that pupils should be as perfect as
possible in the semi-mechanical operations of addition, subtraction,
multiplication and division.

(2) The power of thinking is developed in pupils as they make the
relotions necessory to computation, and necessary to the solution of
practical problems. All numerical relations, such as the S's in 10, or
the sum of 7 and 4, should he thought out, not learned by rote. The
thinking out of these relations is quite an eflTort for young people. It
is to be understood that real work in arithmetic begins when pupils
think the relations in number, rather than discover them by observing
groups of objects. To look at a group of five objects and say 6 = 2 + 3
is not to be compared with the thought process whereby a pupil s&ys
2 + 3 = 6, because 2 + 2 = 4 and 2 + 3 is one more than 4, which is 5.

(3) Thought is perfected through expression. One of the reasons
why arithmetic is such a valuable school study is because it gives such
an opportunity for exact expression of clearly-perceived truth. Tlie
relotions in arithmetic are all definite, and on this account the expres-
sion can be accurate. It should be a rule in teaching, that a question
is not solved when the answer is found. It is finished when the method
of solution has been set forth in suitable language.



SECTION I.

NUMBEBS FROM 1 TO 10.

BXBBCISE 1.

u
3 2+ 1-

1 + 2=
3-1 =
3-2=
8^2=

3 + 1 = 2+2=
1 + 3= 2x2=
4-1 = 4-2=
4-3= 4^2=
4-3=

5^4 = 5^3=

4+1 = 3 +2= 2+2+1=
1 +4= 2+3= 2x2+1=
5-4= 5-3= 5-2-2=

5-f-2=



EXEBCIBB a.

Copy and complete

:

3 d^tui4eJ a'^^e/Y

3

•^ df^t^^i^^ied -^few 3 dx

d^^€€l4^ <e4^ — «ti^€€^t4^.

€l4^ d^PUid^.

2, d^i^€e4€d f^^fr/— dfict^ied ifgyle j^ dx

2 /t^frl J

d*^€€€l4€d.

€4^^^ied ^'le d^4^a4^.

<^/ '^ d*^e€-(^led €J df7.€€^i^.

3 d^€^€i4€d fi^n^/— d^^eUed ti^ (^ df^,€t-fi4^.

cT- / =

(^- / = /

di^€^i:t4^ed

.

2 + 3= .P

(f-J =

3+ .P =dr (f-^ = / c^-^^=/



axEBcisB a.

6

P

5 + 1 =
1 + 5=
6-1 =
6-5=
6+5=

6+ 1

1 + 6

7-1 =

7-6 =

4+2=
2+4=
6-2=
6-4=
6h-4=

5 + 2 =

2 + 5 =

7-2 =

7-5 =

3 + 3=
3x2=

6-3 =
6^3=

2+2+2=
2x3=

6-2-2-2=
6-^2=

4+ 3 =
3+4=
7-3 =
7-4 =

7-6= 7^5= 7^4=

2+2+2+1=
2x3+1=

7-2-2-2^
7-2=



BXEBCI8E 4.

6

8

Copy and complete

t4.a4^ '^dd 2

dl^44€i4€d <Z'n€/3

a4e — ai^^€€i/i'

€l4^ d<7yU^i4/ed.

2, ^̂l'3^^€d 3

'6

da^uiz4^ ^e4^ — dt^u.a4€<J

d€7.t4^^4^eJ €d d*7y^t^i4^.

3 d^€€a^led *^ V d^u^^4^ — '^e^j^ted'.

2 d^t^O'i.eJ €l/H</ 2. d€^i4'a4^ €Kn€/ 2. iii^^€>a4€d

€l4^ J^i^e€'a4^. X 3=

2

7

d^t^'O'i^ed ^da,, ^ynz S dat4^l4^ €i4-e d^€€n4/ed.

dtze^a4^ oT datt'gTd^d €i4^ dî^€4€e^€d

.

-^ da€€€i4^ t^9^ '7 da€€^^4^ — ^€''f'»^ed €1"^^—

^ i^^'f^. 7-i- ^=

3 X .P=S 3+4=.P /^3=

^+ J = / /-cf = / /-^J=



6 EXBBCISB 6.

8

II i

7 + 1 = 6+2= 5+ 3= 4+4
1 + 7 = 2+6= 3+5= 4x2
8-1 = 8-2= 8-3= 8-4
8-7 = 8-6= 8-5= 8-4
8^7 = 8-6= 8^5= iof8

3+3+2= 2+2+2+2=
3x2+2= 2x4=
8-3-3= 8-2-2-2-2

8-3= 8-2=
iof8=

5 squares and 3 squares are — squares.



BXBRCISB 6.

Copy and complete

;

6

a/te — '^n'04e

€€4^ — '^'tt^i^e

cea4ye<f a4^ — '9'9^€>4^

7

4

a4^.

a4^

.

2

a^u-i

<Pa€4^i4^.

d^4^a4yed

€d

d^^^ca4^d a.4^

di^t^^e^led a^^ o d^t^^e^^a

a^€^a4^d i&iS

^

^

a4^ed.

S^i

2 d^t^^i^l^d ^i^le — d\

d^4€€e4^d -uda —
y /^^^<^ied.

<i^^^€e4^ed a^-e (^ d

2

4

i^^i^e4€d.

€^1

d^M^^

d^^^fi4^d €d — da^^^Z'ied.

- d^^f€Z4€d.dof/i^'Ce^^ed <d

2

3

d^^/C'e^e^i'i€d €l4^

d^t4^Z4yed €^yi O di^K/C€€lii,€d

d^^C€€l4^d ^-^ 6 da4^€ld€d

- dt^4^^l4^d.

— 'fe^^'n^d.

ifa^€4.. - c^ = /



BXBRCI8B 7.

9
I

i /

84-1 = 7 + 2= 6 + 3= 5 + 4
1+8 = 2 + 7 = 3 + 6 = 4 + 5
9-1 = 9-2 = 9-3 = 9-4
9-8 = 9-7 = 9-6 = 9-5
9-r8 = 9-r7 = 9^6 = 9^5

9--4-4
9-4

'' I

3+3+3=
3x3=

9-r3=

2+2+2+2+1=
2x4+1=

9-3-3-3= 9-2-2-2-2=
9-^2=



BXBBCISB a

Copy and complete

7 d^4^€{4^J a'^ruc —

9 y
9 y

f'Ue^^ -Udd 2 ^^^^ — <Pa^t^z4'€<i.

'€€€(4^ fl4^ -^^^2^ 'fH^ia^ S JffAue4€d.y
o d^€^<e4^eJ <«^ — -^^/L/ //tgi^)^ O di^^i€e4^

.

9 y
d^t

€'€^l4^d dt7>€4^^4^ <i4e — di

s Ae^f'f^ed.

2 d^y'Ct€i4'ed ^^^

J/ i^a^e^'.

^ d€j'/Ct'ei/l€d <^i^

9 y
9

9 y

^^^4^ — /e^ttted iZ'^^^c —
J=/

€^€€4^ — /e^^i^z^ed d'-rKz —
<f-v^. O -J- cr= /

^ d^^^tz^ed ^^^ O d^ct'a4^ — /e^i'9'i^ €i^»t<c —
f <2-^<<?^. / -^ -^ = /



10 BXEBCI8B 0.

u

10 9 + 1

10-1
10-9=
10-^9=

8 + 2=

10-2 =

10-8=
10-^8=

I!
1

5 + 5 =
5x2=
10-5=
10--5=

4+4+2=
4x2+2=
10-4-4=

10-4=

^v^

7 + 3=
10-3=
10-7 =
10-7-7 =

6 +4=
10-4=
10-6=
10-r6=

3+3+3+1=
3x3+1=

10-3-3-3==

10^3=



BXBB0I8B la

Copy and complete

:

u

/ d^t^a44^ a,^.- a^U€ti^ eUe /O a^€€€i4^.

6 deM^a4'ed ti^n^/ • dtx^ea4^ a4^ /(? art

dezt^a^lcd «/a<i^ ^i^—
d^ <i^U€€i4.€J.

-UdJ

d^t^ui^Ud a^ie /O d^ct.a.i4kf.

yO d^ucUed 4dd 3 d^^ctUd «^ — a^^a4ed.

^0 dacta^ed -Udd () d^€4^a4^ €i4^ — d^t^gi4^

^0 d^cta4^ ^edd (fdax d^cca4^ €€4^

iS /t^.

d^^€^€e4€d.

^i^9^€d 2, d(t^^^'Uedrd a^ — d^^gi4r^.

daU'a4.ed €d — dt^e€'a4^da d^^t

yO daU'O'^^ed €d — da€^gi4^da dau*

2 da€4^a4^ ^ ^O da^a^ed — ^i^>^ted.

O dac€.ge4^ €a^ yO

S da^,a4^ ^ /^

dac€^i4^ -u^t^"̂^ed.

"^^fri^d a^9^e/—
<^«^. /0-*-3=



i:

if i

18 BXBB0I8B U.

a. ft.

^+/= ^-/= ^-/= <^+^=

cr+/= /-/= (^+/= ^H-^=

/+/= 6-/= /+/= 7+^=
e.

f-J2=
9-

2+S=
A.

/-3=
6-2= 7+^= 6-\-3= (^-S=

^-2= (:r-^= ^+S= dr-S=

/-^= d^-^= /+J= ^0-3=
•

I.
•

/0-4-

f-S= cr+^= 7 4^ ^-4=

(^-S= ^+^= 9-4=^ ^+^=
6-\-3-^ 3+4= 4-4^ ^-4=



S+dr=

/+cf=^

^+dr=

dr+dr=

e.

SZBB0I8B la.

s+dr=

'-dr=

6~S^

/0-S-^

^+if=

/
-^= c?+^= ^+7=V=

/<^-^= ^-^= d^-^=

I. rf==/+// cf+J/ /

J. f=cj^-^/y /

IS

-2+^=

/-,:r= ^-s=. ^^S^

3+^=

/+^=

/-c:r= ^+^= /-^=

^-^= 2+S= J+/= /^--J^=

/-^= ^4.^= /^-7= ^-ci^=

/ /



14 vpBliXiHi 18.

0.

^-|-J«

A. 4

2+S=- (54- (f= 2-k-S^ -?+^=

^4-J== ^+^= ^+i= (?+<?=

S-¥2= <^4-c?= «^+-^= ^+-^=

.«+/=
A.

^4-c?:

J+J= /+^= 3+4= <?+J =

^+/= ^-(-^= 2+S= ^+^ =

(:r+/= /+.^= S+S= ^+<^=

t. /
/+^=

k.

c:r+(:r= cJ^+/= c?+/= ^+d^=

/+^= /+<?= ^+^= ^+c:r=

^+/= ^4-^= ^+c?= (f+^=



BXBB0I8B 14.

a. ft

4-2=
d.

2-i

<s-a=- ' <f-y=
,

/-<?= y-6

6-i= S-2= c)*-^= ^-/'

7-4= /->"= f-3= 7-c^=

* / 9' h.

p<-6= /-^= dr~dr= S-6=

-3= 4-3= Y0-4=

6-(S=

^0-3=

9-9-

9-4- io-2= '/~6=

9-^= 9-7-

k.

7-6= 7~^-

<^-4= /o-s=

7-3= f-dr=

4-3=

^-6=

-/= ^-2=

-4= (^-3= yo-6= <^-j=



10 BXBBCI8B 16.

Copy and add

:

a. 2 J J 2 J ^ 2

4 c? 6 dr ^ 7

h. 3 a 3 3 3 3

/ 4 ^ dr 7 6

c. ^ 4 4 4 4 4
/ 2 4 3 6 s

d, S (f dr dr s 6
/ s 4 3 J /

Copy and find the difference :

e, <^ 9 /o 7 6f 9
4 3 6 dr £ s

/ ^0 9 4 YO 9 7
J / / J 4 /



EXERCISE 16. 17

/' -/' r
f. a €Ue^/?d -udd — €Uceyrd €i4^ j^ t/u€^d.

n j^ 'i^^d '^dd — ^€ifjd tZ'le (f 'OiTirfd.

h. y -^/^^ '^dd 4^gz/d €l^lS JH^€^l ^4€l/d,

%. <j 'M^^zed '^dd — ^&a^cd ^i^le 3 ^ta^iz^d.

i of 2 is
1 of 4 is —

1

rwc>.

Four.

By squares show

:

^ of 6 = ^ of 8 = A of 10
1 of 6 = 4 of 8 = ioflO



ll I

I'"'

» BXBBOISH 17.

Copy and complete

:

6^ -l^a^:^ a,n^2 4.et^l^ «^ — ^



BXERCISE 18. 10

Mary had four cents, and her mother gave her
five more. Then she had — cents.

If I have eight apples, and give away three of
them, I shall have — left.

A man had six horses, and sold one third of
them. He had — horses left.

Tell stories, with these numbers, about

:

hens cats dogs birds
3 + 4 6 + 2 4 + 2 5 + 1

frogs cows robins eggs
3 + 7 6 + 4 1 + 3 2 + 6

boys girls rabbits horses
9+1 7 + 2 4-3 7-5

nests books pens ducks
6-4 7-3 5-2 8-4

foxes hats nuts trees
6-1 5-4 6-5 8-3

rats flowers boxes slates
6 + 3 10-7 5 + 4 9-7

cups chains bags dolls
8 + 2 ^of4 iofS |of9



20

l'P>i

IBZBRCISB 19.

Ill III

X^ =

III III

II II II I

Copy and show by lines

;

«. b.

^x S=

2x^^

2xdr=

4x2-=

drx/=

d.

/^=cf X J+/

Y0=4x2-^ P

0*i^ y&«? ^^^ ^?^ 2'd€l^^—

0«^ i^«9«^^^ ^^^ ^2^— S'^ ^^^__

0«^ ^u^ M^eu €i^ — 2'd. €^^~

€ ^^'Ve^'.



EXBBCISB 2a 21

Sx S =

d.

3

oe

3x ^+^=

4x 2->r2 =

3x3+/=

/

/= c^^^ =

A.

•^^ 'T'lt^n^ €l4^— ^ d €ryj^

^ €i4^ 3 d- €l^f't^ -

-^ ^•^^^^z? o?'<5^^ ^ tff «^^^

\^^^ ^^S= 3x3= (^-4=

^s f^ <^= cf^-*-^= ^-^-J= /0-S=

I ^/<^= /(9-^2= 4x2= /-/=

X(:r= /0-4=

'€/— '^jl^€i^tte4'

#,<^'^'€4'.

If/— -^^j^i

-^ d^'V€^^ iZd^— J' f^ e^^«^-
0«W ^^ ^^^ t-?^ — ^'i^ iz^t^e/—

€>^z*e4'.

€^a*e4'.

i^OJ^.



92 BZBBCI8B 21.

«• b. e, d.

6+1- 4+3= 5+4= 8-2=
3+4= 8-5= 6-4= 6-5=
7 + 2= 2 + 7= 2'8in6= 7-1 =
8-3= 8-^4= 6--2= 10-4 =

«• / g. h.

7-4= 3 + 6= 10-1-5= 7 + 3 =
8-2= 2x5= 7 + 1= 10-2 =
2'sin8= 2'8in8= 1 + 7= 8-3 =
6x1= 5-4= 4+6= 4x2=

i. In 4 there are — twos.

j. In 5 there are — twos and — remainder.
k. In the same way tell how many 2's in 6*

5; 7; 9; 10.

I. How many 3's in 4? in 6? in 8? in 9? in 10?
m. How many 4's in 5? in 8? in 6? in 9? in 10?

Add at sight

:

4 5 7 6 9 3 4 7

I 1 1 J J, _2 ^ 2658723 5 42jJJ_3_3j^2135461 34444445 5



BXEBCI8B 22. 23

Add at sight

:

4 6397246
38297456
-i-?J_2JJ_2_3
57 3 86 665-?JJ_2J_5_4 4

92 7 4 3685J_7_3JJJJ.J
Subtract at sight

:

556798 10 9

J: A 1 ± 1 _^ J 3

6 8 9 10 6 7 8 9

A A A A 1. A A ^

9 7 8 6 7 9 8 10

1 A A A ' 1 1 A A
10 8 10 9 10 8 10 10

6 2 9 3 7 2 13



24 BXBRCISB 28.

it

||
:

il

:

a. Eight apples and two apples are — apples.
b. Seven men and three men are — men.
c. Nine cents less four cents are — cents.
d. Ten dollars less seven dollars are— dollars.
e. Four girls and six girls are — girls.

/. Nine pounds of tea less seven pounds are— pounds.

ff.
Five times two cents are — cents.

h. Three times three quarts of milk are —
quarts.

i. One fourth of eight apples is —apples.
j. One third of six books is — books.
k. Nine boys are — more than two boys.
I. Ten cents are — more than one cent.

m. Four oranges are — times two oranges.
n. Six trees are — times two trees.

0. Eight books are — times four books.

p. Three apples will cost— times as much as
one apple.

q. Four apples will cost — times as much as
two apples.

r. Ten apples will cost — times as much as
five apples.

s. There are— times three cents in six cents.
t. There are— times two cents in eight cents.
u. There are -- times four cents in eight cents.



BZBRCIBB 24. 20

a. John had two cents, and his mother gave
him five more. He then had two cents and five

cents. Two cents and five cents are — cents.

b. William had eight cents, and spent four
cents. He then had eight cents less four cents.

Eight cents less four cents are — cents.

c. Mary bought an orange for two cents, an
apple for one cent, and a book for four cents.

She spent two cents and one cent and four
cents. Two cents and one cent and four cents
are — cents.

d. John is ten years old. His little sister is

three years old. John is — years older than
his sister.

€, There are four trees on one side of the yard,
and six trees on the other side. In the whole
yard there are four trees and six trees. Four
trees and six trees are — trees.

/. I had ten little chickens, and two of them
died. There were left — chickens.

(/. J a coat costs nine dollars and a pair of
shoes costs two dollars, the coat costs more
dollars than the shoes.

h. Harry had nine apples, and gave away one
third of them. He gave away — apples, and
had — apples left.



ae BZBBOIBB 26.

O

I

O

i I

a. If one pencil costs two cents, two pencils
will cost two times two cents. Two times two
cents are — cents.

O O o

D
OOO 000 ooo
D D D

b. If one blank-book costs three cents, three
blank-books will cost three times three cents.
Three times three cents are — cents.

c. I buy at the store four apples. One apple
costs two cents

; four apples cost four times two
cents. Four times two cents are —- cents.

d. Eight sticks of candy at one cent a stick
will cost — cents.

e. Three sticks of candy at two cents a stick
will cost — cents.

/ Two pencils at three cents apiece will cost— cents.

g. A cow has four legs; two cows have two
times four legs. Two times four legs are —
legs.

h. A dog has two ears ; four dogs have four
times two ears. Four times two ears are — ears.



aZBBCIBIl 20. j_

o. A spider Ims four pairs of logs. Po„r pairsof logs are four times two legs, or_ legs
6. A grassliopper has three paii-s of WsThiw pairs of legs aro - legs

^
A spider has - legs. A gmsshopper has

wings^
^ ""*' ^''"'' '""«'• ''"" '^^ h*^" -

e. Three spools of thread cost nine cents. OneBpool wll cost one thiri of nine cents. One tilof nine cent! is — cents.
"« imra

/ If Mar> has four dolls, and gives two ofth^m^away. what part of then. dL she give

ff. Harry has three doves, and George hastw.ce as many. How .„any has Georg^

ofirr "T^""'"
"•*' '"'" °* *«•>? °ne halfof e.ght ? one half of six ?

«. Alice bought an orange for three cents and«o.„e nuts for two cents, and gave the storekeeper ten cents. How much did J.
back? ^ receive

J. A bee has six legs and four wings. It ha<,- pa.rs of legs and _ pal s of wings. A piderhas _ more legs than a bee.
'^



m

M1 BXBBCISa 27.

Add: -

6 3 8 2 3 3 5 2
2 2 1 5 4 6 2
1 J S I J JO J 2

4 3 2 3 2 2 5 4
2 1 7 5 8 1 2
1 J _0 J J ^ _3 J
1 5 2 3 5 6 4 3
2 4 2 3 1 3 4 1
3

J^ J J J J J
2 4 3 3 1 2 5 3
2 3 4 4 4 7 2 2
3 2 3 2 5 1 2 5

BXEBCISB 28.

Tell a story about each of the following ex-
amples :

«. 4 + 3=«
<7. 2 X 4 =

6. 10-6= ^.3x3 =
c. 5 + 5= t*. 5x2 =
d. 8 + 2=
c. 9-4 =
/ 3+2+4=

j. J of 8=
k. J of 6 =
/. 4 of 8 =



SECTION II.

NUMBEK8 FROM 1 To la.

10+ 1.

1 + 10-

11 10.

11 + 10-

5+6+1-
6x2+1-
11-6-6-

11 + 6-

BXERCI8B L

9+2-

2 + 9«

11-9-

11 + 9-

1

4+4+3-
4x2+3-
11-4-4-

11 + 4-

8 squares and 3
7 squares and

.

8+3-
3 + 8-

11 8-

11 + 8-

—

—L.
7 + 4-

4 + 7-

11 7-

11 + 7-

3+3+3+2-
3x3+2-

11-3-3-3-

11 + 3-

6+6.

6+6-

11-6-

11+6-

2+2+2+2+2+1
2x6 + ].

11-2-2-2-2-2=

11+2-

squares are — squares,

squares are 11 squai-es.



80 EXERCISE 2.

I;

10 and

9 and

8 and

7 and
6 and

7 and

4 and
8 and

3 and

8 and

6 and
10 and
7 and
5 and -

10 and -

6 and -

4 and -

9 and -

3 and -

are

are

are

arc

are

11

— are
J

are

are

are

are

are

are

are

are

are

11

11

J

are

are

are

are

are

11

5 and

4 and

3 and

2 and

1 and

9 and

2 and

6 and

5 and -

are

are

are ! 11

are

are

are

are

are

are

— fives and
— fours and
— threes and

— are]

— are

— are— twos and — are

11

11

9 and — are

3 and — are

1 and — are

4 and — are

2 and — are

1 and — are

5 and — are

7 and — are

2 and — are

8 and — are
J

11

11



EXERCISE 3. £

a. h. c. d
4 + 3 = 6 + 3 = lo 1 = 11-2 =

8 + 2 = 4 + 4 = 11-1 = 9-3 =

7 + 3- 7 + 4= • 9-2 = 11-3 =

9 + 2 = 8 + 3 = 8-3 = 10 - 4 =

5 + 3 = 6 + 4 = 10-2 = 11-4 =

e. / 9- h.
^^-^= 8 + 3 = 1 + 6 = 11-6 =
7 + 4 = 6 + 3 = 3 + 6 = 2 + 7 =
6 + 5 = 8-5 = ^^^ = 4 + 7 =
10-5 = 4 + 5 = 8-6 = 9-7 =
9-5 = 11-5 = 10-6 = 11-7 =

•

t.
•

3- k.
2 + 8= 4x2 + ?=ll 2 fours and 3 =11
3 + 7 = 3x3+?=ll 3 threes «nnd -11
3 + 8= 5x2 + ?= ll — twos and -11
10-8- 6xl+?= ii — fiv^es and -11
11-8 = 2x5+?= ll — ones and -11

/. Wl. n.
2 + 9= 7xl+? = ii — eight and -11
11-9= 9xl4-?=ll — six and -11
11-7 = 8xl+?= ll — nine and -11
11-6= 10xl+?= li — seven and — -11
11-4= lxll + ?= ii — ten and -11

Si



^t

sa EXERCISE 4.

a. b. c. d.
4x2+1= 7x1+3^= 11+4= 11+ 7 =

3x3+2= 9x1+2== 11+3= 11+ 9=
5x2+1= 10x1 + 1 == 11 +5= 11+10=
8x1+3= 2x5 + 1 == 11-8= 11^ 1 =

6x1+4= 4x2+2 == 11 +6= 11+ 2=

e. / ff- k
4+ 6 = 11-4 = 1

2 of 4= A of 9=
5 + 3= 6 + 3= I

2 of 8= J of 6 =
7+2= 9+4= 1

2 of 10= 4 of 4=
10-8= 7 + 5= 1

3 of 9= iOf 6=
10-6= 11-8= 1

4 of 8 = sof 8=
10-6^ 11-8= 1

6 of 10= ifeof 10=

•

2 threes and — are 8 5 twos + 1 =11
3 threes and — are 11 — threes + -11
4 twos and — are 9 — fours + -11
2 fours and — are 10 — fives + -11
5 twos and — are 11 — six + -11
1 six and — are 11 — seven + -11
- fives and — are — — eight + -11— nine and — are — — nine + -11— twos and — are 7 — ten + -11— eight and —-are — — eleven + -11



EXERCISB 5. 8d

10+ 2' 9+3- 8 + 4= 7 + 5- 6 + 6.

6x2=2+10= 3+9= 4 + 8= 5 + 7=
12-10= 12-9= 12-8= 12-7- 12-6-6=
12+10= 12+9- 12+8- 12+7- 12+6-

6+5+2-
5x2+2=
12-5 r.=

12+6=

4+4+4=
4x3=

3+3+3+3=
3x4=

2+9+2+2+2+2=

12-4-4-4= 12-3-3-3-3= 12-2-2-2-2-2-2=

12=10 + ?

12= 8 + ?

12= 5 + ?

12= 7+?
12= 4 + ?

12= 2+?
12= 3 + ?

12+4= 12+3=

?2'sin 12?

?6'sin 12?

?4'sin 12?

?3'sin 12?

?7'sinl2?
? 8's in 12 ?

?9'sin 12?

12+2=

^ of 12 =

k of 12 =

h of 12 =

^ of 12 =
1 of 12 =

ife of 12 =

T^ of 12 =



84 BXBRCISB e.

a,

11 +—
]0 +—

.

9 +— =

8 +— =

7 +— =

12

12

12

12

12

b.

6 +— =12
5 +— = 12

4 +— =12
3 +— =12
2 + ~-=12

c.

d.

8 +—
4 +— =

9 +— =

3 +— =

6 +— =

0-

12-1 =
12-2 =
12-3 =

= 12
= 12

= 12
= 12
= 12

e,

11 +—
1 +—

^

7 +— =

5 +— =

2 +— =

12- 6 =
12- 7 =
12- 8 =

12-4= 12- 9 =
12-5 =

k.

7 + ?=12
12-?= 4

4 + ?=l2
12-?= 2
12-?= 9

12

12

12

12

12

•

t.

12-9 =
12-6 =
12-3 =
12-1 =

12-10= 12-7 =

I

3 + ? = 12
12-?= 1

12-?= 8

6 + ? = l2

3 + ? = l2

7 +—
8 +—
9 +—

10 +—
11 +—

= 12

= 12

= 12

= 12

= 12

/
8 +— =12
5 +— =12
3 +— =12
2 +— = 12

7 +— =12
•

J-

12-5 =
12- 2 =
12- 4 =
12- 8 =
12-10 =

12-?= 4

5 + ?=12
9 + ? = 12
12-6= ?

12-?= 8



EXERCISE 7. 85

a.

5 + 6 =

8 + 4 =

11-7 =
12-8 =
12-6 =

e.

5 + 7 =
8 + 4 =
6 + 3 =
12-9 =
12-5 =

b.

6x2
2x6
3x3
2x5
3x4 =

/
2x4 =

5x1 =

3x2 =

4x2 =

10x1 =

c.

5 twos +

1

3 twos + 1 =

2 threes + 2 =

2 fours +3 =

3 threes + 2 =

SI-

4 threes +
2 lives + 2

3 threes + 2

1 eight +4 =
3 fours +0 =

d.

of 6

8^

of 9 =

of 12 =

1

3

iof
1

3
1

Iof 12

— 1

— 1

5

^Of

of 12

5

of 10 =

7 =

4

T!rofll =

n. How
f). How
r. How
(I. How
e. How
/ How
g, 8 = 2

= 3

EXERCISE 8.

many twos in 7? 8?
many threes in 7? 9?
many fours in 7? 9?
many fives in 7? 9?
many sixes in 8? 7?

many sevens in 8? 7?
x4 =4x2 =3x2 + 2
+ 5, etc.

In the same way

:

h. 5=
j, 7 =

». 6= k. 9=

9? 10? 12? 11?

8? 10? 12? 11?

8? 10? 12? 11?

8? 10? 12? 11?

9? 10? 12? 11?

9? 10? 12? 11?

=4+4 =5+3

/. 11 =
m. 12 =«



ac1 EXERCISE 9.

Copy and add :

a.

3

b.

5 3

d.

4

e.

5
/
8

5'-

1

h.

5

•

I.

6

•

4
4 2 6 6 4 2 8 5 3 2
4 ^ ^ 2 _2 ^ _2 2 2 6

k. ^. w?-. n. 0.
Z^- 9- r. ». <.

2 3 4 3 4 5 5 6 7 7
7 6 3 4 5 5 4 3 5 4
1 2 3 5 2 2 1 3

4.

BXBBCISE 10.

Write with proper signs

:

a. From 12 take 3; 4; 7; 6; 8; 9; 10; 5- 11
d. From 11 take 5; 4; 3; 7; 6; 10; 8; 9;

2.'

c. How many are 4 twos and one ? 2 fives and
two? 3 threes and two? 6 twos and nothino;?
^ fours and three? 2 sixes?

d. How many 2's in 5? 3's in 7? 4's in 9?
5's in 11? 6's in 12? 7's in 10? 8's in 11?
9's in 12? 10'sinl2?

e. Subtract by twos from 12 to 0.

/ Subtract by threes from 12 to 0.

ff. Subtract by fours from 12 to 0.

h. Subtract by fives from 12 to 2.

i. Subtract by sixes from 12 to 0.



BXEBCISE 11. 37

a. Eight apples

b. Nine #

1 and three appl

and three #

es are — apples,

are — #

c. Seven * and four # are — •

d. Two • and ten # are — #

e. Six * and five # are — # '

/ Twelve * less six * are — #

g. Eleven * less nine * are — *
1

h. Ffve # and seven # are — »

ooo o o ooo ooo
-1

*. If one hat costs three dollars, four hats will

cost — dollars.

Show by pictures

:

j. How much five pencils will cost at two cents

apiece.

k. How much three books will cost at three cents

apiece.

I. How much two little flags will cost at six

cents apiece.

m. How much three rulers will cost at four cents

apiece.

n. How many shoes in four pairs,

o. How many horns six cows have.

p. How many legs three horses have.

• Word to be supplied by pupU.



BXBRcisa la.

a. Fonr robins and seven sparrows are— .1
* S>ix pmks and five roses are — ^
c. Nine boys and three feirls are — -•

are-Xr '"'' °' '"" '"' "'"' ""^^ "' «°-

are'-!pinlf'
"' '^™' '"'' "'"^ P'"*« "^ •'«"•'««

are - qu'artr''*'
°' """ '"^ "^^ '"«''*^ "^ """k

snfar'lr^^.l':' "'" '"^ *^^° ''"""'^^ «^

A. Henry has twelve pencils, and Mary sevenHenry has - more pencils than Mary

J.
Joseph earned five cents on Monday and

;i™:d-rnts^''"'"^^'"'^-
o-T-4he

i. A boy bought six marbles at one store andtwice as many at another. Ho bought- tnavZ.at the second store.
"laiDles

k. Mary has ten dolls, and Ellen has six. Mary •

has _ more dolls than Ellen.
^

I- A bee has four wings, and a fly has one-halfas many w.ngs as a bee. A fly has 1 wings

buuerflv aT"^' "T
"' ™"^ '^'"^s as a lee. Abutterfly, a bee, and a fly have _ wings.

• Word lo he ,„pp|iea by p„pH^



EXERCISB 13.

Illlilllllll
Twelve thinjrs = one dozen.

a. ^ (loz. = ? b, I doz. = ? c. ^ doz. = ?

(/. How many separate squares can you make
with a dozen sticks ?

e. A boy gave a dozen apples equally to three

friends. How many apples did each one have ?

/. If 4 apples are put on each plate, how many
plates will it take to hold a dozen ?

g. Make a dozen nmrks. Cross half of them.
How many marks are left not crossed ?

h. Make a dozen marks. Cross \ of them.
How many marks are left not crossed ?

I. One dozen peaches less four peaches are— peaches.

j. One half dozen eggs and 2 eggs ere — eggs.

k, A dozen children are playing ball. If 8 of

them are boys, there are — girls.

I I doz. eggs at 2 cents apiece will cost —
cents.

^ of a dozen oranges at 3 cents apiece \\\\\m.

cost how much? ^ of a dozen oranges is —
oranges. If 1 orange costs 3 cents, — oranges
will cost — times 3 cents. — times 3 cents are

— cents.



40 BZBR0I8B 14.

E^::^:^^r ''
^"=^^ "' '''^^^ -

«

a.

10+ 3 =
3+10 =

10x1 + 3 =
13-10=
13-^10=

6+6+1=
6x2+1=
13-6-6 =

13-r6 =

b.

9 + 4
4 + 9

9x1 + 4 =

13-9 =

134-9 =

c.

8 + 5

5 + 8^

8x1 + 5 =

13-8 =

13^8 =

/
5+5+3=
5x2+3=
13-5-5 =

13^5=

7 + 6

6 + 7 =

7x1+6 =

13-7 =

13h-7 =

4 + 4 + 4+1 =

4x3+1=
13-4-4-4 =

13-f-4 =

3+3+3+3+1=
3x4 =

13-3-3-3-3 =
13-7-3 =

t.

2+2+2+2+2+2+1=
2x6+1=

13-2-2-2-2-2-2 =
13-7-2 =

13 = 9 + ?

13 = 6 + ?

13 = 8 + ?

13= 7 + ?

k.

? 5's in 13 ?

? 4's in 13 ?

? 3'sinl3?
? 2'sinl3?

L

134- 6=
13-10=
13-- 9=
134- 7*-



BXBRCI8B 10. 41

a. h. e.

1 + y = 13 7 + ?= 13 3 + ?=13
2 + ? = 13 8 + ? = 13 6 + ?=13
3 + ?=13 9 + ? = 13 9 + ?=13
4 + y = 13 10 + y=13 7 + ?=13
5 + V = 13 11 + ?= 13 4 + ?=13
G + ? = 13 12 + ? = 13 5 + ?=13

d. c. /.

1 + ? = 12 12-^6= ? 13-7= ?

12 - ? = 2 5 X ? = 10 12- ? = 10
3x3= ? 3 + 8= ? 4+8= V

? + 4 = 10 4 X ? = 12 ? + 6 = 13
? X 5 = 10 ?-9= 3 ?-2=ll

9-

5 twos and 1 = ?

3 fours and 1 = ?

2 fives and 3 = ?

2 fours and 3 = ?

5 twos and 2 = ?

In 13 there are

In 13 there are

In 13 there are

In 13 there are

In 13 there are

k
3 threes and 2 = ?

2 sixes and 1 = ?

6 twos and 1 = ?

4 threes and 1 = ?

1 seven and 4 = ?

I
- twos and — over.

- threes and — over.

- fours and — over.

- fives and — over.

- sixes and — over.



43 BXBBOISB 16.

a.

How many are
12 boys and 1 boy ?

-t whips and 5 whips ?

2 nuts and 10 nuts?

h.

How many are

4 chaii-s and 7 chairs?

8 lamps and 4 lamps?
i^Wls and 6 balls?

^ lemons and 6.e.n„„«, » uJ/and 2S
c.

13 is—, more than 11. 13 i^
13 is — more than 10. 13 i„
13 is - more tlian 0. 13 [^
13 is —

- more than 8. 13 [a .

13 is — more than 7. I3 is .

12 are how nany 2's ?

13 are how . .any 3's?
10 are how many 5's ?

9 are how many 3's ?

6 are how many 2'8 ?

(jf. How many must you put
13? with 5? with 7? with 10?
with 9? with 12? with 2? with

11 are

12 are

13 are

4 are

10 are

d.

— more than 6.

— more than 5.

— "loro than 4.

— more than 3.

— more than 2.

Jiow many 5's ?

how many O's ?

how many 2's?

how many 3's?

how many 2's ?

with 3 to mjike
..ith 8? with 6?
4?

h. Add:
4 2 8
5 11 3

4

6
4

9

5

7

7

6

8

4
5

8

6

5



BZBR0I8B 17. 43

a. Count by 2'8 from 1 to 13 and back to 1.
b Count by 3'8 from 1 to 13 and back to 1
c. Count by 4'8 from 1 to 13 and back to 1
d. James had 11 rabbits, but he sold 4 of

uiem. How many mbbits liad he left ?
e- In a stable were live black cows and seven

reu cows. How many cows in all ?

/ If a little boy found 8 eggs, and his sister
touud 6 moi-e, how many did she «nd ?

loi Cindy How many cents had she loft ?

^. There were four little nests, with 3 pretty
birds in each nest. How many bii-ds in all ?

t.

13- 3=

13- 6=

13- 8=

13-10=

13- 4=

13-
13-
13-
13-
13-

— = 3
— =10
— = 6

— = 7

— = 8

k.

12+— =13
2+— =13
10+_=13
6+— =13
7+— =13

44- 7=

6+ 7=

5+ 6=

3+ 4=

2+11=

m.

iof 10 =

I of 10 =
^of 8-
^of a-

n.

^of 12 =

I of 12 =

iof 12 =
iof 12 =

o.

Add:

4 5 3 3 3

3 13 4 1

2 2 2 4 5

2

7

1



44 EXERCISE 18.

2 fivo-cont pieces make 10 cents.

T) five-cent pieces m.ike •J;") cents.

a. It tjikes - two-cent pieces to make 10 cents.

h. A little boy had 2 five-cent pieces and :} cents
more. He then had — cents.

c. Mary had 2 five-cent pieces, and E<lith had 9
cents. Which had the more money ?

d. A little girl had r> cents and 2 cents in her purse.How much more would she need to make 10 cents?

e. Lottie bought a spool of thread for 6 cents and
paid for it with a ten-cent piece. How nuich money
had she left ?

^

f. How many cents in 10 cents and 2 cents ?

g. A little boy had 10 ccmts in his pocket, and spent
8 cents. How much had he left ?

h. A little girl paid twice two cents and 1 cent for
some thread. How many cents did she pay ?

*. How many cents in 4 two-cent pieces and a five-
cent piece ?



SECTION III.
'

NUMBEBS

EXE

FEOM 1 TO 1&

RCISE 1.

Show by drawings or objects the following

:

a. b. C. d.

10+ 4 = 9 + 5 = 8 + 6 = 7+ r=
4 + 10= 5 + 9 = 6 + 8 = 7x 2 =
14- 4= 14-5= 14-6 = iofl4=
14-10- 14-9= 14-8 = 14- 7 =
14-10= 14^9 = 14-8- 14- 7 =

6+6+2=
6x2+2=
14-6-6^

14-6=

/*.

3+3+3+3+2=
3x4+2=

/
5+5+4=
5x2+4=
14-5-5-

14-5=

4+4+4+2=
4x3+2=

14-4-4-4=
14^4 =

2+2+2+2+2+2+2=
2x7=

14-3-3-3-3= 14-2-2-2-2-2-2-2=
14-3 = 14-2=

j. 14 = 8 + ? =4 + ? =9 + ? = 3 + ? = 11+?
= 7 + ? =2 + ? =5 + ? =10 + ? = 6 + ?

I
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a. 14 = 12 + ? =9+ ? =7 + ? =4 + ? = 2+ ?
b. 14= 6 + ? =3 + ? =5+? =8 + ? =10+?
c. From 14 take 9; 7; 3; 8; 5; 2.
d. From 14 take 10 ; 13; 4; 11; 6; 12.

e. f

6x2+2= 4x2i3= 10x1+4=
8x1+5= 3x4+2= 12x1+2=
7x2+0= 6x1+5= 11x1+2=

I

EXERCISE 3.

a. In 14 there are — sevens,
ft. In 14 there ai-e — twos.
c. In 14 there are — threes and
d. In 14 there are — fives and
e. In 14 there are — fours and
/. In 14 there are — sixes and

remainder,

remainder,

remainder,

remainder.

4

2

2

6

3

4

Add at sight
EXERCISE 4.

3

4

5

4
5

2

5

4^

3

7

3

3 1

4 5

5 6

4

6

4

2

8

4

4

3

3

9

2

5

3

6

4

4

6

7

9

2

3

2

7

_5

8

1

5

4

8

6

5

3
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a.

14-5=
13-5=
11-5 =
10-5 =
8-5 =
12-5=

7+ 7 =
|of 14 =
14- 7 =

&
10-6=
12-6 =
14-6 =
11-6 =
9-6 =
13-6 =

/

c.

12-4=
14-4=
9-4 =
10-4=
8-4 =
11-4=

d.

13-3
7-3
10-3 =

8-3 =

14-3 =

9-3 =

h.

6 + 8= 14-2= 7x— = 14
2 + 9 =
5 + 6 =

13-3 =
10-2 =

6x— =12
3x— = 9

14- 7= 4 + 7= ll-^5= 8x^= 8
2x 7= 3 + 9= 9^3= 5x-=io

12-3-3-3= 14-4-4-4=
14-2-2-2-2= 12-2-2-2=

10-4-4= 10-1-1-1=
11-2-2-2= 13-4-4= 4t!;
13-3-3-3= 14-3-3-3= 4t

I. Add at sight •

k.

5 twos less 6=
3 threes less 2=
2 sevens less 4=

lees less 5=
wos less 7=

6
1

.1

6
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Put in the missing number

:

' V

a. 6. c. <f.

4+6= ? 14- 6= ? 12^ 3= ? 13-11=?
3+? = 10 2x ? = 14 6x ?=12 ? -12= 2
5x?=10 3x 3= ? 13- 8= ? 14- 2=?
12-6= ? 2+12= ? 94- 3= ? 11+ 3=?
?x4=12 ?- 8= 6 12-10= ? ? - 7 = 5

e. /. 9- A.

9+?=13 3 +8= ? ? + 7 = 13 ?-8=6
13-4= ? 14-?= 5 14-?= 4 2x7=?
? + 9=14 4x ?= 12 9+?=12 12-6=?
2+7= ? 11-?= 5 12-4= ? 13-7=?
?-8= 4 4+7= ? 7-6= ? 14-?=2

i. Subtract at sight

:

11 13 12 10 12

2 2 2 3 3

12 11 14 13 10

4 4 4 4 5

EXERCISE 7.

a. How many 2's in 6? 9? 12? 11? 13? 14?
h. How many 3'8 in 7? 9? 11? 12? 13? 14?
c. How many 4'8 in 7? 10? 12? 11? 14? 13?
d. How many 5'8 in 9? 8? 10? 13? 12? 14?
e. How many 6's in 12? 10? 13? 8? 14? 11?
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Show the following by squares or blocks, as
given on pages 29 and 33.

a. 6. c. d.

10+ 5 = 9 + 6= 8 + 7 = 7+7+1=
15-10= 15-9= 15-8 = 7x2+1=
15^10= 15^9= 15^8 = 15-7-7 =

15^7 =
e. / 9-

6+6+3= 5+5+5= 4+4+4+3=
6x2+3= 5x3 = 4x3+3=
15-6-6 = 15-5-5-5 = 15-4-4-4=

154-6 = 15h-5 = 15-h4 =
h.

•

3 + 3 + 3 + 3 + 3= 2+2+2+2+2+2+2+1=
3 x5= 15-2-2-2-2-2-2- =

15-3-3-3 -3-3 = 2x7+1=
15-3 = 15-r-2=

•

J- k I
|ofl5 = 15= 7x ? + l 15-11 =
hoi 15 = 15 = 13+? 15-12 =
iof 15 = 15= ? + 4 15-13 =

m.

15= 8x? + ? — threes

n.

are 15
15=10x? + ? — sevens and — are 15
15= 6x? + ? — fours and — are 15

•if
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a. Three doors and_ doors are thirteen doors.
b. Four clocks and_ clocks are eleven clocks.
c. Seven hats and — hats are twelve hats.

•

^'.V*"^*
"""^ ~ """^^ »'* foo'^en carfs.

e. Eight shoes and _ shoes are twelve shoes.

hoies
^ ° '^^ ^^ ~ '""^** *"* ^"^o

S'- Eleven cups less — cups are four cups.
A. Twelve knives less- knives are Ave knives.
t. Fourteen lamps less - lamps ai'e three

I

a,

10 +4=
10 + 5 =
11+3=
11+4 =
12 + 2=

e.

12+ 3 =
13+ 1 =

BXERCISB 10.

15-1 =
15-2=
15-3=
15-4=
15-5 =

/
15-14=

c.

4 + 8=
7 + 6=
9 + 3=

10 + 5=
9 + 4=

3 + 8:

13+ 2= 15-12= 10+ 4=
4+10= 15-11= 12+ 3:^
5 + 10= 15-10= 2 + 13-

15-10
12- 7 =

6- 5 =

12- 8 =

15-11 =

h.

9-6
15-13= 2+ 6= 14-8 =

15-3=
14-7=
10-8«
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Add: .

a. h. c. (/. c. / .'/• h. i.
•

J.
5 2 3 1 3 4 9 4 2 3
3 7 6 7 2 8 1 2 4 2
1 ^ ^ J ^ 2 ^ ^ 1 _3

k. I. /». w. 0. P- !?• ^. 8. A
4 5 2 7 5 1 7 2 7 2
2 3 1 2 3 5 1 3 1 6
7 2 3 1 4 2 4 4 3 4
1 4 4 2 1 1 1 3 3 3

EXERCISE 12.

a. John had three apples, Mary 4 apples, and
Eddie 5 apples. How many apples had they
all? 8 apples and 4 apples and 5 apples are— apples. They all had — apples.

b. Henry earned 5 cents one day, 6 cents the
next day, and 4 cents the next day. How many
cents did he earn? He earned 5 cents and 6
cents and 4 cents. Answer: — cents.

c. Ralph paid 15 cents for marbles, and
James spent 6 cents less than Ralph. How
much did James spend? He spent 15 cents
less 6 cents. 15 cents less 6 cents are — cents.

1
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o. A little boy had 14 peaches. He ate 7 of
them. He then had— peaches left. 14 - 7

=

.

h. In a garden were 13 trees; ten of them
were apple-trees, the others were plum-trees.
13 - 10 =—

. So there were — plum-trees.
c. If 15 chairs were in a room, and 9 chairs

were carried out, there would then be — chairs
left. 15 - 9 =—

.

d. In a nest there were 12 eggs. 5 of the
eggs were taken out. Then there were eggs.

EXERCISE 14.

Put in the proper sign in these examples ;

a. h. c.

3 ? 3= 9 2 ? 6= 8 5 ? 9 = 14
12 ? 3= 9 4 ? 2= 8 6 ? 4 = 2
15 ? 6= 9 5 ? 10=15 12 ? 3 = 4
4 ? 6 = 10 2 ? 7 = 14 15 ? 3 = 5
6 ? 2=12 3 ? 11 = 14 8 ? 7 = 15

rf. e. /
7 ? 5=12 15 ? 9=6 7 ? 5 = 2
3 ? 4=12 7 ? 4 = 11 9 ? 5 = 14
8 ? 2= 4

7 ? 2 = 14

5 ? 3 = 15

9 ? 5= 4

2 ? 10=12
8 ? 2 = 16

15 ? 5= 3

15 ? 5 = 10

14 ? 8= 6
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a,

15-?= 10

14+? = 15

6x ? = 12

13-6= ?

4x3= ?

d.

12-?= 7

?x4=12
2x7= ?

10-9= ?

8+? = 1j

11+? = 15

2x6= ?

3+? = 14

?-8= 6

? + 7 = 15

6x2= ?

?-7= 6

3x ? = 12

10-?= 1

15-7= ?

2x5= ?

11-7= ?

15-?= 9

7+? = 14

4x ? = 12

/
6+? = 15

2x4= ?

3x ?= 9
11-5= ?

12-7= ?

15-5 =
13-5 =
14-5 =
12-5 =

14-4=
11-4 =
13-4=
12-4 =

Add at sight

;

9 10 6
4 5 8

10-6=
14-6=
12-6 =
15-6 =

k.

9 8

6 9 8 6

13-3 =
11-3 =
14-3 =
12-3 =

9

8

/.

12 11 9 8 6

7 12 8

8

8
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}|

a. Seven days make one week. In 2 weeks
tliei-e are — days.

b. In one week thei-e were 4 pleasant days
and there were — stormy days. (4+? = 7.)

c. If school keeps 5 days every week, howmany days are left? (5 + ? = 7.)
d. In two weeks there were 5 stormy days.How many pleasant days were there ?
e. If a boy picked a dozen boxes of berries

and sold 8 boxes, how many would he have?'
/Put i dozen sticks in one pile, 1 dozen in

another, i dozen in another. How many sticksm all?
"^

ff. Four weeks make one month. In ^ month
there are — weeks.

h. In three months there are weeks.
^. In two months and three weeks there are— weeks.

j. A little girl was sick 3 months and a half.How many weeks was she sick?
k. School has kept 3 months and 3 weeksHow many weeks has it kept?
/. Add:

3 6 4 3 5 4 2
4 2 5 9 2 3 6
5 _3 2 1 6 4 1

5

3

4

7

2

1

5

6

3
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'\i

ip IF
OAIXON. QUABT. Piirr. UlLL.

In a gallon there are 4 quartH. (it.
= (juarts.

In a quart there are 2 pints, pt. = pints.
In a pint there are> 4 gills, gi. = giUs.
In 1 quart there are 2 pints. In 2 quarts

there arc — pints.

Pt.

Pt.

1 QUAirr.

Pt. Pt.

Pt. Pt.

V! gt'ARTM.

In 3 quarts there are — pints. (Show by
drawing.)

Show by drawing

:

How many quarts in 2 gallons.

How many quarts in 1 gallon and 2 quarts.
How many quarts in 2 gallons and 3 quarts.
How many pints in 2 quarts and 1 pint.
How many gills in 2 pints.

How many gills in 3 pints and 2 gills.

How many pints in 1 gallon and 7. quart.
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«. If one gallon, or four quarts, of milk costs
1^ cents, a quart will cost — cents.

J of 12 = ?
b. In two and one-half gallons of milk there

ai*e — quarts.

c. A boy bought 8 quarts of molasses. Howmany gallons did he buy?
d. In one quart there are two pints. In 6

quarts there are 5 times 2 pints, or — pints
e. In one-half a quart there is one-half of two

pints. One-half of two pints is — pint.
/. A girl picked 6 <|uarts of cherries. Howmany pints did she pick?

Add:

9' h.

1+4= 5+6=
3+4= 2+6=
9+4= 7+6=
2+4= 3+6=
7+4= 6+6=

•

t.

3 + 5

4 + 5:

2 + 5

9 + 5 =

5 + 5 =

8 + ? = 14
14-9= ?

6 + ? = 14
14-7= ?

6x2= ?

I

13-8
10-7
? x2
? x4
13 - ?

?

?

12

12

7

2 + 3 =
8 + 3 =
3 + 3 =
5 + 3 =
9 + 3 =

7n.

9+ 5 = ?

14-^ 2 = ?

12- ?=4
10- 8 = ?

14-11 = ?
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1 Inoh. llnob. 1 Inch.

1 liioh. i Inch.
1

iin. iin.
1

' _J

12 inches make 1 foot,

in. means inch or inches,

ft. means foot or feet.

a. Cut a strip of paper measuring 12 inches
long and 1 inch wide. Mark the inclies.

b. Draw a line, as near as you can, 2 inches

long, and then measure the line.

c. Draw a line, as near as you can, 3 inches

long, and then measure the line.

d. Find, by measuring, how many inches long
and wide your desk is.

€. " Guess " how long and wide this page is,

and then measure to see how near you came
to the con-ect measure.

/. i of a foot is — inches.

g. In 1^ feet there are — inches.

h. How many half inches are there in 1 in.?

in 2 in. ? in 3 in. ?

i. Draw a line 1 yard, or 3 ft., long.

j. 2 yards are how many feet? 3 yards? 4
yards? yd. means yard or yards.
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a. How long and wide is each of tliese rect-
angles ?

b. Which of these i-ectangles are squares?
c. Cut i)ai)er of the same size as a, h, and c.

d. Fold a to the size of b. Fold c to the size
of a. Fold c to the size of b.

e. a is how many times as large as b f
/. c is how many times as large as «.?

(J. c is how many times as large as b ?
h. How long and wide is the page of this book?
*. How many inches around a? around b^

around c?

J. Draw a rectangle 4 in. long and 2 in. wide.
k. In one-half of a foot there is one-half of

12 mches, or — inches.

L In one-third of a foot there is one-third of
12 inches, or — inches.

m. In one-fourth of a foot there is one-fourth
of 12 inches, or — inches.



SECTION IV.

NUMBEBS FROM 1 TO 20.

EXERCISE 1.

1 QUABT. I PI i I'urr.

a. There are — gills in a i)int.
b. There are — pints in a quart.
c. There ai-e — quarts in a gallon.
d. In half a pint there are — gills.
e. There are — pint measures full of water

in a quart.

Give full answers to the following questions:

/ How many pints in two quarts?
^. How many half-pint cupfuls of water in

a pint? How many in a quart?
^. At 3 et. a pt., what cost 1 qt. of milk?
*. At 8 ct. a qt., what cost 1 pt. of milk?
J. How many quart measures full of water

in a gallon?

k. What will 1 qt. of oil cost at 12
gallon ?

ct. a
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Show by squares the following:

a. b.

10 + 6= 9 + 7 =
16-6-6= 16-7-7 =

16-6= 16-r7 =

C.

8 + 8 =
8x2 =

16-8-8 =
16 + 8 =

d
5+5+5+1=

5x3+1=
16-5-5-5 =

16 + 5 =

e.

4+4+4+4=
4x4 =

16-4-4-4-4 =
16 + 4 =

3+3+3+3+3+1=
16-3-3-3-3-3 =

16^3 =

9-

2+2+2+2+2+2+2+2=
2x8 =

16-2-2-2-2-2-2-2-2 =
16 + 2 =

h.

iof 16 =
iof 16 =

k.

of 16= 16-3= 16-14= 16-12 =
16

16

9= 16-13 =
10= 16-12 =

16-14 =
16 + 15=
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a,

2 twos = ?

4 twos = ?

6 twos = ?

5 twos = ?

7 twos = ?

3 twos = ?

8 twos = ?

1 two =?

d,

16= 4 + ?

16 =
16 =
16 =
16 =
16 =
16 =
16 =

3 + ?

2 + ?

5 + ?

6 + ?

8 + ?

9 + ?

7+?

u. c.

16--2 = ? 14 + ?=16
14--2 = ? 12 + ? = 16
12--2 = ? 10-f-? = 16
10--2 = ? 8 + ? = 16
8--2 = ? 6 + ?=16
6--2 = ?

. 4-f-?=16
4- 2 = ? 2-l-? = 16
2- 2 = ? 0-l-? = 16

e. /
16-- 8 = ? 4x4=?
16-- 4 = ? 3x4=?
16-- 2 = ? 2x4 = ?

16-- 5 = ? 3x5=?
16-- 3 = ? 2x5=?
16-- 7=? 2x8=?
16--10 = ? 8x2=?
16-- 9 = ? 2x7=?
16- 8 = ? 3x3=?16=10 + ?

g. ^
4+4 + 4 + ? = 16 16-3-3-3-*3-3-?=0

3+3+3+3+3+?=16 16-5-5-5-9=0
6+ 6-f? = 16 l6-6-6-?=0

5 + 5 + 5+? = 16 16-4-4-4- ?=o
7 + 7 + ? = 16 i6-7-7-?=0
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Show by drawing

:

a. In 1 gallon there are 4 quarts; in 2 gal-

lons thei*e are 2 times 4 quarts. 2 times 4 quarts
are — quarts.

b. In 3 gallons there are — times 4 quarts, or— quarts.

c. In 4 gallons there are — times 4 quarts, or— quarts.

d. At 4 cents a qu^-rt, 1 gallon of milk will

cost — cents.

e. What will 2 quarts of vinegar cost at 8
cents a quart ?

/. A lady bought 2 gallons of molasses. How
many quarts did she buy ?

g. In one can there were 8 quarts of milk, and
in another can 4 quarts. How many gallons of

milk were there?

h. Two pails of water each held 2 gallons.

How many quarts in both pails ?

i. A can that holds 3 gallons and 1 quart,

holds — quarts.

j. How many gallons and quarts in 10 quarts?

k. How many quarts in 2 gallons and 2 quarts ?

I. How many gallons in 12 quarts ?

m. What will 2 gallons and a quart of milk

cost at 6 cents a quai't ?
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a. b. c. d.

13 + 2 = 15-8 = 7x2 = 10^2 =
11 + 4 = 16-9 = 6x2 = 16^4 =
13 + 3 = 14-5 = 5x3 = 12 --3 =
11 + 5 = 13-3 = 4x4 = 8--2 =
12 + 3 = 15-6 = 2x6 = ^ 9^3 =
13 + 3 = 16-7 = 8x2 = 12^6 =
9 + 7 = 12-8 = 2x7 = 14^2 =
8 + 6=- 16-4 = 3x5 = 16-2 =
6 + 9 = 11-7 = 2x8 = 15-3 =

e.
/.

16-4-2--3-2 = ? 16- 2 -8-6=?
16-3-4--5-1=? 16- 5 -4-3=?
16-2-7--4-2=? 16- 6 -5-l=v

Eight nuts and seven nuts are — nuts.
Six oranges and nine oranges are — oranges.
Four potatoes and twelve potatoes are —

potatoes.

Six squares and ten squares are — squares.
Five doors and eleven doors are — doors.
Seven windows and nine windows are —

windows.

Eight birds and eight birds are — birds.

Eight quarts and five quarts are — quarts.
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a. A little girl bought 12 pears and had 4
more given her. How many had she in all?

h. What number of cents will there be in two
2-eent pieces, and two 5-cent pieces.

c. How many legs have four chairs?

d. How many sides have four triangles?

e. If 2 gallons of milk were spilled out of a
ten-quart pailful, how many quarts would be
left?

/. A room is 5 yards and 1 foot long. How
many feet long is it ?

g. A table is 9 feet long. How many yards
long is it ?

h. How many legs have two flies and a bird ?

i. A house has 3 windows behind and 4 times

as many in front. How many windows has it

in both front and back ?

j. How many things must you put with a
dozen to make 16 ?

Add: k.

2 3 5 2

3 5 2 3 5 1 5 9 8 6
2 2 4 6 4 7 6 2 1 2

4 4 3 1 3 2 3 3 3 5

2 1 2 4 3 6 2 1 4 3
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Put in the proper signs with the following
numbers

:

a.

3-8-11
2-4- 6
5-3-15
9-3- 3
7-2-14
9-3 6

2
16

8-4
9-7
5-9-14
16-8- 8

d.

J of 12 =
J of 9 =

iof 8 =

h.

4-9-13
5-2-10
6-8-14
15-3- 5
12-8- 4
7-2- 5
8-6- 2
12-4- 3
9-4-13
4-4-16

I Of 14 =

i of 12 =

4 of 12 =

c.

5 -8- 13

13 -8- 5
6 -2- 12
4 -3- 12
7 -6- 13
8 -4- 12
9 -5- 4
6 -9- 15
3 -5- 15

16 -4- 12

^3f 16 =

i<3f 15 =

4 of 16 =

Subtract

:

10 11 10 9

3 4 5 6

12 11

3 2

10 12 13 11

4 5 4 5
^""^

Ji

L
16 14 15 14 13 15 16 11 14 16

_8 _5 _8 _6 7 9 _8 _7 _8 9 1^
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Show by squares or marks the following

:

a. b. e.

10+7= 9+8= 6+6+5=
17-7-7 = 17-8-8= 17_6_6 =

17^7 = 17-r8= 17^6=
d. e.

5+5+5+2 4+4+4+4+1=
5x3 + 2 == 4x4+1=

17-5-5--5 = ' 17-4--4-4-4=
17h-5 =s 17-r4=

/ a-
3+3+3+3+3+2== 2+2+2+2+2+2+2+2+1=

3x5+2== 2x8+1=
17-3-3-3-3--3== 17-2-2-2--2-2-2-2-2=

17-^3== 17-r2=

17= 7x? + 3

•

17=2x?+ l

•

17^2= ?

17=3x?+2 17=5x?+2 17^3 = ?
17==4x? + l 17=8x?+ l 17-4= ?

17=6x? + 5 17 =9x?+8 17-5= ?

k. l.
TJfl.

17- 6= 4x4+?=17 8+? = 17
17- 7= 3x5+ ? = 17 6+?= 17
17- 8= 9x]+?= l7 9+?= 17
17- 9= 6x2+ ? = 17 7+?= 17



Add at sight

a. 9

BZBBCISB 0. 67

7 11 12 13 14 13 14 15 11

8 6 9 11 13 12 11 13 12
4

Subtract at sight

;

e.

14

c-
6 8 7 9 10 12 11 9 11 8

^•869 10 435697
J _7 J _8 J _8 _8

8 10 11 16 12 13 15 14 17

/ 8 10 9 11 13 12 15 17 16 14

9' 9 11 10 8 15 12 14 13 16 17
6 Q Q ii

8 10 9 12 11 13 12

6 6

15 17 16

*• 10 8 9 11 14 12 13 15 17 16
_8 _8 _8 _8 8 8 8 8 8 8
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a. How many cents shall I need to make 17
cents If I have a dime and a five^jent piece?

0' 17 IS how much more than 5?3?7?fi?
8? 10? 12? 14?

c. 17 is how many times 8? C? 5? 7? 4? 2?
3? 9?

«f »^ ^r

d. How many wheels have 4 wagons?
€. How many school-days in 3 weeks?
/ How many oranges shall I p„t with a

dozen to make 17?

g. Three little children each found 5 nuts.How many had they all?
h. How many legs have 2 boys and 3 dogs?
*• ^ g»rf had one dozen eggs, and she sold iof them. How many did bhe sell?

j. 4 persons are riding horseback, and twice

A:. There are 8 eggs in one basket, and ' asmany m another. How many in both?
^.17 quarts are how many quarts more than

4 gallons ?

w. 17 pints are how many quarts?
n. 17 gills are how many pints and gills?

now many quarts and gills?
o. In 2 gallons and 1 pint how many pints?



BXBROISB 11.
*

^
a. Pour gills make one pint. In i pint there

are — gills.

*. In 1 quart or 2 pints there are — gills
c. In li pints there are — gills.
d. In 3J pints there are — gills
e. At 4 cents for every giU of cream, a pint

will cost — cents.
*

/ There are - quarts in 1 gallon. In 2igallons there are — quarts.

ff' In 3| gallons there are _ quarts
h. There are - gallons in 12 quarts.
^' In 1 gallon there are — pints.

J' In 1| gallons there are how many pints?
k. At one cent a gill, a quart will cost -

cents, and a quart and a pint will cost - cents.

.mi ^} ^?^ "P^"'^^ 2 ^1"^'*« "^ "»lk. He
still had a gallon left. He must have had -
quarts at first.

m. Seven days make one week. There are —
weeks in 14 days.

n. There are -- weeks and - days in 17 days.

ThP* nfh
"''"T *^''' ""''' ^""^ P^«^«^"t days.The other - days were not pleasant.

p. A man worked every week-day for 2 weeks
at one dollar a day. How many dollars did heearn f



70 BZBB0I8B Ifl.

Show by squares or marks the following:

9+9= 8+8+2== 7+7+4= 6+6+6-9x2= 8x2+2= 7x2+4= 6x3-
''t:'.- ^«:f-«-

l«-7.7= 18-6-2^6;
^" "- 18+8= 18-7= 18-6-
18^9=

e.

5+5+5+3=
5x3+3=

15-5-5-5=
15--5=

/
4+4+4+4+2=

4x4+2=
18-4-4-4-4=

18-r4-

3+3+3+3+3+3=
3x6 =

18-3-3-3-3-3-3 =
18-r3 =

h.

2+2+2+2+2+2+2+2+2=

18-2-2-2-2-2-2-2-2-2=
18^2 =

Compare 18 with 17 ; with 16 ; with 15 •

14; with 13; with 12; with 11
9; with 8; with 7; with 6; with 5

with
with 10 ; with

with 4.



a.

4 + = ?18

9 + ?=l8
7 + ? = 18

8 + ?=18
2 + ?=18
5 + ? r= 18

3 + ?=l8

Add:
4 3

5 8
6 7

2

9

1

4

3

7

b.

10 + ?«18
12 + ?«18
14 + ? = 18
16 + ?«18
11 + ?=18
13 + ?«18
15 + ? = 18
17 + ? « 18

5 3

2 9

6 4

7

2

8

71

18- 6-?

le 3 V

18 ];t= '(

18 - J(< .V

18- e..?
l.S- 7-=?

18- 9 -y

3 4. 3

4 2 9

6 8 5

3 4 5
6 6 9

How

/
many

3'sinl8?
8's in 18 ?

6's in 18 ?

lO's in 18 ?

8 8
6 4

6 8

2's in 18 ?

4'8 in 18 ?

7'8 in 18 ?

11 8 in 18 ?

9 5

6 6 9

9

10

12

8

'8

8

8

in 18?
in 18?

in 18?
in 18?
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a.

4 + 4=?
3 + 4 = ?

7 + 4 = ?

9 + 4 = ?

12 + 4 = ?

5 + 5 = ?

9 + 5 = ?

2 + 5 = ?

3 + 5 = ?

12 + 5 = ?

•d.

18-4 = ?

17-4 = ?

16-4 = ?

15-4 = ?

14-4 = ?

10-5 = ?

16-5 = ?

18-5 = ?

17-5 = ?

14-5 = ?

h.

3 + 6 = ?

- 7 + 6 = ?

9 + 6 = ?

5 + 6 = ?

10 + 6 = ?

6 + 7 = ?

2+7 = ?

5 + 7 = ?

8+7 = ?

10+7 = ?

e.

12-6 = ?

18-6 = ?

14-6 = ?

17-6 = ?

13-6 = ?

13-7 = ?

12-7 = ?

11-7 = ?

10-7 = ?

18-7 = ?

g. Count forward and backward
h. Count forward and backward
i Count forward and backward

c.

7 + 8 = ?

6 + 8 = ?

4 + 8 = ?

10 + 8 = ?

8 + 8 = ?

2 + 9 = ?

9 + 9 = ?

6 + 9 = ?

8 + 9 = ?

4 + 9 = ?

12-8 = ?

13-8 = ?

15-8 = ?

11-8 = ?

18-8 = ?

15-9 = ?

11-9 = ?

16-9 = ?

10-9 = ?

18-9 = ?

by 2's to 18.

by 3'8 to 18.

by 6's to 18.



EXERCISE 16. 73

5, 8, 6, 3, 9, 2, 4, 1, 7, 10.

a. Add 2 to each number. /. Add 7.

b. Add 3 to each number. g. Add 8.

c. Add 4 to each number. h. Add 9.

d. Add 5 to each number. i. Add 10.

e. Add 6 to each number.

8, 2, 6, 4, 9, 3, 7, 5, 11, 10.

j. Subtract 2 from each number.
k. Subtract 3 froui each number if possible.

I. Subtract 4 from each number if possible.

m. Subtract 5 from each number if possible.

n. Subtract 6 from each number if possible

J

0. 5 4 3 7 3 5 3 8 4 3
6 7 9 5 2 6 i 2 5 6
3 2 4 6 8 6 9 6 8 7

Subtract

:

p. 15 17 16 14 12 13 18 15 17 18
-4 _8 -5 -8 -7 2:4-10 -6-4-6

q. 12 15 14 18 16 17 12 13 14 18
-9-11 -9 -8 -4 -9 -8 -4 -6 -9

r. 4+8-3+5-6+5-7+9-8=?



74 BZBSCI8B 10.

a. A little boy bought 6 pears at 3 cents
apiece. Ho,v much did they cost?

b. Henry put 18 nuts on a fence. A squirrelearned off eight of them. Ho. many nuts w^
c. How many days in 2 weeks and 3 days ?
rf. A man sold a chair for 18 dollars, which

w.^^„rJo.la« more than it cost How much

6 httle children. How many cookies did eachone receive?

/. How many inches in a foot and a half?
9- A man made a ruler 18 inches long. A

ithlr'"'^^^"- ^-^-^ was the

h. B^^ many eggs in a dozen and a half?
t. What would 9 sleds cost at 2 dollars each^
J> If 1 pint of milk costs 2 cents, what will

1 gallon of milk cost?

3 ct„t"r
"'""^ ""'' "^ ' """'^ '^'' -"^« -»'^ ^ ti.„os

^

I A little girl picked 18 chestnuts, and gave
5 of them away. How many had she left?



BXBRCISB 17.

Show by squares or marks the following:
n. .

76

a.

10+ 9=
19-10=
19-- 10=

d.

7+7+5=
7x2+5=
19-7-7 =

19-^7=

9+9+1=
9x2+1=
19-9-9=

19--9=

c.

6+6+6+1=
6x3+1=

19-6-6-6 =
19-6=

8+8+3=
8x2+3=
19-8-8 =

19--8=

/
^^^^^^-^^

5x3+4=
19-5-5-5=

19-r5=

4+4+4+4+3=
4x4+3=

19-4-4-4-4=
19-4=

3+3+3+3+3+3+1
3x6+ 1

19-3-3-3-3-3-3
=

19-3=

f*
1^ is — more than 10.

j. 10 is — less than 19

t t '1 '"'"'^^'''^ ^" ^^ - *^"^ ^«^ - over

13, li S 1717^8.""'"^ '' ^^'^'^ ^^' ^2;

»*. There are Q'v .**.-riare y s itiwi rema ndor m f ft
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JBXSBCI8B 18.

a. ,

ft.

2 eights = ? In 18 there are ? threes.
o sixes = ? In 16 there are ? fours.
4 fours = ? In 12 thei-e are ? twos.
3 twos = ? In 15 there ai-e ? fives.
2 nines = ? In 16 there are ? eights
4 threes = ? In 18 there are ? nines.
3 fives =? In 14 tlierc are ? twos.
9 twos = V In 12 tliere are ? thl^^es.
2 sevens = ? In 14 there are ? sevens.
6 threes = ? In 15 there are ? threes.

18 + ? - 19 19

d.

- ? = 10
e.

2-f3 + 4 + v=i9
1« + V = 19 19 -y = i2 6 + 2 + 3 + ?=19
12 + v = i9 19 -?= 7 4 + 7 + 6 + ? = 19
17 + ? = 19 19 -?= 9 5 + 2 + 7 + v=l9
14 + V ^ 19 19--?= 6 5 + 3 + 2 + ?=19

/ .y- k.

15 + ? = 19 19--? = 15 6 + 3 + 7 + ?=19
10 + ? - 19 19--?=13 5 + 4 + 2 + ?=19
8 + :-^ = 19 19--?=16 2 + 6 + 8 + ?=19
9 + *> - J9 19-- ? = 18 7 + 7 + 3 + ?=19
la + V ^ 19 19- v^ll 4 + 4 + 2 + ?=19

t. 5+7-8+7t8-6~5+9-6=?



BZEBCI8B 10.

«. 9 twos and ? = 19.
b. 6 threes and ? = 19.
c. 4 fours and ? = 19.
d. 3 fives and ? = 19.

€. 3 sixes and ? = 19.

/ 2 sevens and ? = 19.

9' 2 eights and ? = 19.
h. 2 nines and ? = 19.

*. 1 ten and ? = 19

Fill in the missing number:
8.

3 + ? = 12
7x2= V

8 + 6= ?

?x4 = 16
19-7= ?

V.

5x v = i5
12- 8= ?

4+11= ?

7x ? = 14
15- 6= V

9 X ? = 18
18-6= ?

15-?= 9
12-3= ?

16 H- 2= ?

w.

14

18- 7= ?

?x 3 = 18

= 16
12-11= y

V ^

,^. 19:2-— times and

77

i. 19-9 =

A;. 19-8 =

/. 19 - 7 =

m. 19 - 6 =

n. 19 - 5 =
o. 19 - 4 =
p. 19 - 3 =
q. 19 - 2 =
r. 19 - 1 =

u.

6-^3= 9

515-? =
12-3= ?

9 + 8= ?

? X 6 = 1«

a?.

?x 4= 8
3 + 11= ?

10

?

4+15= ?

19- ?

19- 6 =

;i;. Oividf- 19 by 3; by 4; by 7

remainder.

by 12 : by 11 : 1 y 10.

by 8; by 9



78 BXEBCI8B 20.

Show by squares or lines the following:

«• h.

10+10= 9 + 9 + 2 =
2 tens = 9x2 + 2 =
20-10= 20-9-9 =
20-10= 20-^9 =

c,

8 + 8 + 4
8x2 + 4
20-8-8

20 -r8

d.

7+7+6=
7x2+6=
20-7-7 =

20^7 =

9-

e.

6+6+6+2=
6x3+2=

20-6-6-6 =
20^6 =

/
5+5+5+5

5x4
20-5-5-5

20-f-5 =

4+4+4+4+4= 3+3+3+3+3+3+2=
4x5= 3x6+2=

20-4-4-4-4-4= 20-3-3-3-3-3-3 =
20^4= 20-3 =

*.

2+2+2+2+2+2+2+2+2+2=
2x10 =

20-2-2-2-2-2-2-2-2-2-2=
20-2 =

llx l+? = 20

, 13x l+? = 20

k,

16 X 1 + ? = 20

18 X 1 + ? = 20



a.

thus

b.

c.

d.

e.

/
9-

h.
•

I.

•

J-

k.

I.

m.

BXBBCISB 21. 70

Compare 20 with each number below 20,

20 is — more than 19.

20 is -~ more than 18, etc.

19 is contained in 20— time and
17 IS contained in 20— time and
15 IS contained in 20— time and
12 IS contained in 20— time and
10 IS contained in 20 - times and

I !« contained in 20 — times and -

6 IS contained in 20— times and -

4 IS contained in 20 - times and -

7 IS contained in 20 - times and -

5 IS contained in 20 - times and -

3 IS contained in 20 - times and -
2 IS contained in 20 -- times and -

n. Count by twos up to 20.
o. — twos are 20.

p. Count by threes up to 18,

q- — threes and — are 20.
r. Count by fours up to 20.
» — fours are 20.

t. Count by fives up to 20.
u. — fives are 20.

V. Count by sixes up to 18.
w. — sixes and -— are 20.

- over.

- over.

- over.

- over.

- over.

- over.

- over.

- over,

over,

over,

over,

over.



80 BXERCI8B 22.

Put in the number to make 20 wherever the
*8tar" is:

a. b,

6 5

4 3

2 4

3 2
• •

c.

3

9

2

4
•

d. e. /.
(J.

h

7 2 6 2 4
3 7 18 3

4 13 3 4

2 7 4 12

1 5

6

4 4

2

20 20 20 20 20 20 20 20 20 20

k. 20 is ? more than 10.

I 20 is ? more tlian 12.

m. 20 is ? more than 16.

n. 20 is ? more than 9.

0. 20 is ? more than 15.

P- 20 is ? more than 13.

2- 20 is ? more than 11.

r. 20 is ? more than 14.

». Divide 8, 4, 6, 12, 20, 16, 18
t. Divide 9, 3, 12, 15, 7, 18, 20

hy 4.

l)y 3.

u.

i of 10 =
V.

i of 14= 1 of 18 =

3

of 12 =
of 6 =

k of 33

of 16 =
of 9 =
of 15==

I of 20 =

§ of 12 =

I of 18 =



BXBRCI8B 2a

Copy carefully:

One 1 I Eleven
Two 2 II Twelve
Three 3 III Thirteen
Four 4 IV Fourteen
Five 5 V Fifteen
Six 6 VI Sixteen
Seven 7 VII Seventeen 17
Eight 8 VIII Eighteen 18
Nine 9 IX Nineteen
Ten 10 X Twenty

11

12

13

14

15

16

19

20

81

XI

XII

XIII

XIV
XV
XVI
XVII
XVIII

XIX
XX

Read the following, and write in figures:

II, III, V, VI, VII, VIII, X, XI, XlII, XV,
XVI, XVII, XVIII.

V, IV, VI, X, IX, XI, XV, XIV, XVI, XX,
Al A.

VIII, VI, IX, XVI, XIX, XI, XIII, IV, XVII.
XIV, XII, XVIII, VIII, XX.

Write in Roman notntion:

1, 3, 5. 6, 8, 10, 12, 13, 15, 16, 11, 2, 17.
18, 20, 7.

.
. , -.

5, 4, 6, 8, 9, 3, 7, 10, 2, 15, 14, 16, 11, 18,
20, 19, 12, 17, 13.

9, 4, 14, 19, 13, 10, 11, 8, 13, 17, 12, 18.



I ftXBROISa 24.

Which is the larger, and how much?
a. 4x5 or 3x 6?
b.

c.

2x8
7x2

rf. 8x2
€. 5XS
/. 2x9

or

or

or

or

or

3x 5?
4x 4?
3x 4?
2x10?
6x 3?

g. From 20 take 4, live times,
are left?

h. From 18 take 3, five times,
are left?

I From 20 take 9, two times,
are left?

j. From 18 take 4, three times,
are left?

k. Compare ^ of 20 with ^
/. Compare ^ of 16 with |

m. Compare ^ of 15 with |
n. Compare ^ of 18 with |

IIow many-

How many

How many

How many

of 18.

of 12.

of 20.

of 12.

0. Harry had 18 marbles, and Willie had i as
many. Harry had — more marbles than Willie.

p. If James finds in a nest 2 eggs every day,
he will have in a week how many eggs more
than a dozen ?



BZBB0I8B 26.

a.

1 gallon =
1 quart =
1 pint «

c.

2 gallons

2^ quarts

2^ pints

16 (|uarts

10 quarts

quarts.

pints.

gills.

— quarts.

— pints.

— gills.

— gallons.

— gallona

b.

Ifoot «
1 month =
1 week =

d.

8 gills =
12 gills =
16 gills =
10 gills =
10 gills «

inches,

weeks,

days.

pints.

pints.

quarts.

pints.

quarts.

e. Twenty cents are the same as — five-cent
pieces.

/ Twenty cents are the same as -- two-cent
pieces.

g. Eij?hteeii cents oqual - five-cent pieces and —
cents.

h. Sixteen cents equal — ten cents and —

.

i Ten cents and two five-cent pieces make — cents.

/ Ten cents, five cents, and two cents make -^
cents.

k. A dozen and a half eggs are eggs.
/. A dozen and one-fourth eggs are eggs.

m. I can buy — two-cent postage stamps for
twenty cents.
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84 EXERCISE 26.

«: A pansy has 5 petals. How many petals
have three pansies?

b. I buy 6 two-cent postage stamps and 5
sheets of paper at one cent a sheet. How
much must I pay for all?

c. How many two-cent postage stamps can I
buy for 8 cents?

o o

D
o o o o o o

D D D D
o o

d. How many two-cent postage stamps can I
buy for 12 cents? for 18 cents?

e. If I can get 3 pencils for 2 cents, I can
get — pencils for 4 cents.

o o

III

o o o o

II

/ If 2 pencils cost 3 cents, what will 6
pencils cost? (Make marks for pencils and
circles for cents.)

(). How many lamps at 2 lollars each can I

buy for 18 dollars? (Illustrate.)

h. I i)ay a cent for 3 little Hags. How many
flags can I get for 6 cents? (Illustrate.)

i. If half a dozen apples cost 5 cents, what
must I pay for 18 apples? (Illustrate.)



EXERCISE 27. 85

a. How many times does the sun rise and
set in one week ?

b. Little Elsie is 6 years old, and her sister

is 3 times as old. What is the sister's age?
c. If it takes 6 yards of cloth for a dress,

how many dresses can you make from 18 yards ?

d. John's mother gave him a paint-box, with
3 rows of paints in it, 6 in a row. How many
paints did he have?

€. If you drink 1 pint of milk every day for

2 weeks, how many pints will you drink ?

How many quarts?

/ A man bought 2 gallons of molasses, and
the next day 2 quarts. How many quarts
did he have then?

ff.
It takes 8 shoes for an ox. How many

will it take for 2 oxen?
h. A little girl wrote 20 words on her slate.

All but 6 were right. How many were right?
I Mary picked 20 roses and put them equally

in 4 bunches. How many in each bunch?
j. Willie bought 10 marbles at 2 cents apiece.

He paid for them with tweiitv-five cents. How much
had he left ?

k. What will two quarts and a pint of milk
COS. at 6 cents a quart?



86 EXERCISE 28.

«. Henry made 4 soldier-caps and Lizzie 8.
How many together?

b. 10 little birds were sitting on the fence.
How many little feet were to be seen?

c. If you have a dozen buttons and 3 more
on your sack, how many will you have?

fl?. In a big room are 4 windows, and 4 panes
in every window. How many panes in all?

e. 3 pretty doves, 4 white rabbits, 6 hens,
and 2 kittens are out in the yard together.'
How many animals?

/. In a stable were 12 horses. All were driven
in spans. How many spans were there?

9' 12 little rubbers stood in a row. To how
many children did they belong?

h. How many pairs of boots are 18 boots?
i. How many feet have 2 cats and a kitten ?

j. 20 peaches were on the table, and they
were divided equally among 5 people. How
many peaches could each one have?

k. How many legs have 3 house-flies?
I How many wings have three spiders and

3 house-flies.

m. A wasp has a pair of large wings and a
pair of small wings. How many wings have 3
wasps? How many large wings have 9 wasps?
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